%#4}-%%#-4» ﬂ*ﬁ‘%%#ﬂ“‘ﬂ*ﬂ)ﬁ"l@“—fl(t*—"““—"%‘-ﬂ‘fl(h"lcr-"iﬁr-"l(\“-'m“-%%-ﬂ‘fh‘-'ﬂ“—"h‘-"h‘-"ﬁ"‘t‘“—'ﬁ“—-W'I(Q“-'K‘“-"K‘“-"K‘“-%%'ﬁ“—-‘h’-d(r-"W‘-"K‘“‘h‘-ﬂ‘dﬂ“—"!(‘b—-ﬂ“‘““—"“‘-d(“'10‘“-1&(‘-1“"—'10&“—-1(‘(‘"K‘!‘-'ﬁ*%"m‘-w-%%%%%%%-W-%%ﬂ‘#-'%%%

e e e i i e e e i e i i e i e i o e e e e G e

28 5 ) ngl) i) 40

kel ol duay) bl 9 1 (5 giuall 2018 J: 8 : gl

"Gl & Yl

1o il
(i e xdua ) A=(x+2)(2x-3)+4-x* 3kl o1

A=(x+2)(x-1):d o (1
(s e x Cua ) B=x? 4 x+2 ;5 kall s (2
x=+3-1:4a B 5 Lall Losell Aol ol
A=B-4:olom-l (3
B=4 : ALl ]R A mulo
B<x?+3x+5 14aal R A ds (4
Be0o10[ : ol ow xe]-3-1 oS 13 (5

2 ol
F=5x2=4Sx+4 ; E=5x"=4 JJ ol S
2 :
X = = — ;"\_'mLF—J:-E»._M.-.:-"I

\Ex o 2 = U = alslall [R \,3 -L.?-"' _i - 2
F 3 E cidl Wi clis Jg;_},éi;. —

A=6x—-9x*+8 c g o K3 |
x=0 :9 3 Al -1

A=9-Bx—-1)% ;-2

W | -

As'—u ol ob gl _,'..'..--<J 3

9—-A=1 :dw IRy ~-4

~8<=A=9x2< =2 U oA IRY -5
ViI-A<1
Librairie DevVOir.TN

T o W GRSV RV RV SR ERRE =L ¥y V. | 43'33"3""99' 06276

=K <K < K =K K X %%"h‘“‘h‘-dﬁ*"K‘“ﬁ‘"ﬂ“—"ﬂ“—"m‘"h"‘h‘-"lﬁ*"ﬁ“ﬂ‘"“"‘l&“—"“"‘h"ﬁ“—"K‘i’“‘!("“‘l(‘h’!(““‘“‘"h"‘#"‘!ﬁ"h‘“ﬂ!‘-%%‘Wf#‘%%‘K‘I‘“‘K‘“‘W‘K‘*"W—"!(’“‘Kt"ﬁ““‘%#%%#%%%%%%%#%#%%%%%


https://www.devoir.tn

e e e i i e e e i e i i e i e i o e e e e G e

14 oyl
B=1—-4(x—-1)? *»* A= (x—4)2x—=1) B sA Ol i

x=—V2 A SA sl cal /o CA Bl eaial Syl /1 (1
B &bl Jalse ¢lda ) &S (2

A+B= (x+1)2x-1) :do=(

1-B=4 /= A=-B /i codiedl R s (4

14+2x%2> A @ QU dsslidl R Ada (5

-
Librairie DeVOlr. TN
oo~ b e b i b by~ oo o e o il oo b - 53404 -42-33- (8199 06:27-6

%%%%%%%%’W‘f}l‘"ﬂh‘ﬂ""lﬁ“ﬁ"ﬂ‘%'ﬂ*’lﬂ!““"ﬂ"m"w%%%%‘w%'w"W%‘W%‘Iﬁ*’w%"”‘%%’W%%‘w%%%%%'w’W‘#‘%%‘K‘t‘%%%%%%%%%%%%%%%%%%%%%%


https://www.devoir.tn



